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The proof uses reductio ad absurdum.
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There is no largest prime number.

Beweis.

@ Suppose p were the largest prime number.

@ Thus q+ 1is also prime and greater than p.
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What's Still To Do?

Answered Questions Open Questions
How many primes are there? Is every even number the sum of
two primes? [1]



An Algorithm For Finding Primes Numbers.

int main (void)

{

std::vector<bool>is_prine (100, true);

for (int i =2; i < 100; i++)
if (is_prine[i])
{
std::cout << j << " ";
for (int j =1i; j < 100;
is prine [j] = false, j+=i);
}
return O;
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An Algorithm For Finding Primes Numbers.

int main (void)

{
std::vector<bool>is_prine (100, true);
for (int i = 2; i < 100; i++4)
if (is_prine[i])
{
std::cout « i « " ";
for (int j =1i; j < 100;
is prinme [j] = false, j+=i);
}
return O;
}

Note the use of st d: : .
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0. A zeroth point, shown at the very end.
@ The first and main point.
® The second point.
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Theorem
There exists an infinite set.

Beweis.
This follows from the axiom of infinity.

Example
The set of natural numbers is infinite.
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This is important.
We want to highlight this and this.
What is the matrix?
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Theorem

» Skip proof

DA



Theorem

Beweis.
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@ A first one,

® a second one with a bunch of subpoints,
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* This is shown from the first slide on.

* This is shown from the first slide on.



* This is shown from the first slide on.
e This is shown from the second slide on.

* This is shown from the first slide on.



This is shown from the first slide on.
This is shown from the second slide on.
This is shown from the third slide on.
This is shown from the first slide on.



This is shown from the first slide on.
This is shown from the second slide on.
This is shown from the third slide on.
This is shown from the first slide on.
This is shown from the fourth slide on.



short Some text.



short Some text.

longest label Some text.



short Some text.
longest label Some text.

long label Some text.



Definition
A set consists of elements.

Wrong Theorem
1=2.



Definition
A set consists of elements.

Wrong Theorem
1=2.

Example
The set {1,2,3,5} has four elements.
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A Theorem on Infinite Sets

Theorem
There exists an infinite set.

Beweis.
This follows from the axiom of infinity.

Example (Natural Numbers)
The set of natural numbers is infinite.
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e Plants

¢ Animals



[@ [Goldbach, 1742] Christian Goldbach.
A problem we should try to solve before the ISPN '43 deadline,
Letter to Leonhard Euler, 1742.

@ [Hagen, Dezember 2011] It's just a test
So macht man einen Eintrag ins Literaturverzeichnis
Einfach Nonsens, 4. Dezember 2011
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